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/* Graph.java */

public class Graph { /* Program.java */
public final int[][] adj; // B&EEATHI import java.util.*;
public final int NUM; // 7 — ¥

public class Program {
public Graph(int[][] adj) {

this.adj = adj; /] BEHEATH : —Ri L aEMELTCOHE
NUM = adj.length; // adj[i][j]==1, €5 TR e ZaiE

} private static final int[][] adj = {
// ﬁé‘){—:—'\/h‘ ]*\75‘%0)*77&?2@%&6 { ) b) > b) > b) }J
public void traverse(int start, int max) { { s s s s s s s
boolean[] visited = new boolean[NUM]; { s s s s s ’ }s
traverse(start, max, 0, visited); { s s s s s s 1

} { B ) B ) B J }J
{ J ) B ) B J })
/] TR & BT SRR LS L T 8 5

void traverse(int n, int max, int d,
boolean[] visited) { public static void main(String[] args) {
/] R T D

visited[n] = true; Graph graph = new Graph(adj);

/] BEBEDS FRRICEE LT BT 8B D a5 Scanner sc = new Scanner(System.in);
if (d >= max) return; for (55) {1 .
System.out.printf("#fism (0-%d): ",
for (int i = @; i < NUM; i++) { . graph.NUM - 1);
// 1 :/773)3/37L£75§/)Tb‘f£1/‘%/f|\6i7kf\ int start = sc.nextInt();

if (adj[n][i] == @) continue; if (start < @) break;
System.out.print (" KiEBE: ");

for (int j = @; j < d; j++
( ] 503 5 J++) int max = sc.nextInt();

System.out.print(" ");
System.out.println(n + "->" + i +
(visited[i] ? "*" : "")); /] PRIV R 2 BlbG T 5
// FEIREIZ L graph.traverse(start, max);
traverse(i, max, d + 1, visited); }
} }
} }
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R TH Set & Map 13y a7 —7 /L 2 50 RBFARTIZIZFE CHERES RIS L TV D, 2D X5 54,
Map<String, String> map = new HashMap<String, String>(); O X IITHA ¥ 7 = —ADEEIAK
ALTHEI XL TBTIE, o3k I XA2EH L THa— NOBENR/NNRETT T,

HEHO7 a7 7 NI, EEATNLHGEEZ 1 DT OFiAdAA THIERE A2 5 b O7EH, ¥ HashMap
ZE 5 Hy TreeMap 9 2ERDL X HIC7R> TS, ZEHMAZEUNCHO TIITTLH L, ANPELFEILTH
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List<E> T2 & NS WATHANT D (55 6101, 55 10 [ TR
LinkedList<E> HHE) X o
HashSet<E> NIYRTITN | s ERBEM LA LS ICF— X 2T 5 (ED)
TreeSet<E> 2 BSERAD—FE add(data), contains(data), remove(data), size(), isEmpty()
HashMap<K, V> Ny aTF—T ) F—LEORT TT—X BN 5 (5, &E, #SEEZ)
Map<K, V> put(key, value), get(key), remove(key), isEmpty(), size(),
TreeMap<K, V> 2 PIRERAR O Tl containsKey(key), entrySet(), keySet(), values()
Map.Entry<K, V> Map<K, V>DEZEREZRKTHNE 7 72 getKey(), getValue()
import java.util.*; System.out.println("Type any words.");
for (55) {
public class Program { String word = sc.next();
public static void main(String[] args) { if (word.equals("QUIT")) break;
Scanner sc = new Scanner(System.in);
if (map.containsKey(word)) {
Map<String, Integer> map = null;
do { map. (word, map. (word)+1);
System.out.print( } else {
"1. HashMap 2. TreeMap ? ");
int ans = sc.nextInt(); map. (word, 1);
switch (ans) { }
case 1: }
map = new
break; for (Map.Entry< R > entry:
case 2: map.entrySet()) {
map = new System.out.printf("%-10 : %3d%n",
break; entry.getKey(), entry.getValue());
default: }
break; }
} }
} while (map == null);
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BOBIEKE L THEHAYZ 7 ADA VAL AT LS,

Arrays.sort(items, new ItemComparator()); // #iA %7 = —R|X Comparator<Item>
COESRENETDI T RE, BRHYFTARLW) FiETcass HEZ2TOTICA VAL U ANERTE %,

Arrays.sort(items, new Comparetor<Item> {
public int compare(Item iteml, Item item2) { return item2.code - iteml.code; }

})s
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Arrays.sort(items, (iteml, item2) -> { return item2.code - iteml.code; });
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for (String s : strlist) System.out.println(s);
strlist.forEach((s) -> { System.out.println(s); });
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